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1. Let f(z) =12z — 23 . Where is f(z) increasing, decreasing, concave up, and
concave down? What are the local extreme points and points of inflection of
y = f(z). Find all vertical and horizontal asymptotes. Graph ¥ = f(x)-

Plo j3-36 = 30w =3 (2RNEH)

—

di-fetoa Fretle Jor a“f{
cr bigey ber C LLf‘H. @& ces

5 -~ ‘C"' ’ .
. 5 State the Mean Value Theorem./ T £ 03>
X t(fy Q<Xeh) Flo,  AGe @X(CTS

gt o= HOET




(997 %3

. Where is f(z) increasing, decreasing, concave up, and ©

4. Let f(z) = 152

concave down? What are the local extreme points and points of inflection of |

y = f(z) . Find all vertical and horizontal tes. Graph y = f(®).
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5. The area of a square is growing at the rate of 10 square inches per second.
How fast is each side growing when each side has length 3 inches?
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6. Farmer Brown has 80 feet of fence with which he plans to enclose a rectangular

pen along one side of his 100-
fence.) What are the dimensions o
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7. Let 2232 = sin(2z%y*) . Find & "
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8. A child is flying a kite:  If the kite is 50 feet above the the child’s hand level and
the wind is blowing it on a horizontal course at 5 feet per second, how fast is
the child paying out cord when 100 feet of cord is out. (Assume that the cord
forms a line.)
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9. Let y=/z3cos?(2z) + 1922 . Find 3.
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10. A rectangular box with a square base is to be constructed to hold 12,000 cubic
- feet of water. If the metal top costs twice as much per square foot as the
~ concrete sides and base, what are the most, economical dimensions for the box?
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